viRoorase 7T B

B Vx +1 > —1 ¢ una disequazione impdséibile.
BE] | +/x <0 — impossibile. ;
BE /x>2—x>4.

B /x<V7 —x<7.

BE Vx-1<5—x<6.

B Vx2+7>Vx2+6 — VxeR
B Vi+x>1—x>0.

BT -1<V2-x—x<3.
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Vx>0 — Vx.

\/§§2—>0§x§4.
V14+x2>0— VxeR.

Vx—1>5—x>6.

vx—1>-1—x>1.

Vi—-x<2—x>4.

Va—x2< 2 — x#0.
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Risolvere le seguenti disequazion: irrazionals:

BI] Vx+3<4 Vv2x+1>3; Vx-2+2>0.

B V3x-2>-2; 1<vVx+2; 3+2x>1.

E]ﬂ—%o; 1-v1-x>0.
BX Vx2-9+3>0; vVx?—4<-3.
BE Vel +x+25<4; Vo —x+4<0.
EBO3+vV2-3x>0, 2-x<1.
BE3-V2+x2>0;, V2-x<1.
E\’/Z_le<l; V1-x2<1.

BY 3x7+1>15 Vi-x2>1(neNy).
B V2x-5<1; "™W2x-5<1(neN).

1
E Vx2—5x+1>5; 4 vx—-3<3.

BEL V2-x<1; /(x-3)2<-2.
BEX] 3> vV2+%2 Vxt+1>+/-10.
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